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THE SEARCH MODEL

1.
Use the basic search model to explain how an unemployed individual chooses a reservation wage. Explain why the reservation wage may be higher than the net income while looking for work. 

2.
Show how the reservation wage and the average duration of unemployment changes with the rate of job offer arrivals. 

3.
Discuss how the results obtained in question 1 and 2 would change once you allow for job-to-job search while employed. 

LABOUR MARKET EQUILIBRIUM WITH FRICTIONS

4.
Consider first the behaviour of firms. What is the effect of an increase in productivity on job creation (the labour demand curve). 

5.
Show how a change in productivity affects agreed wages in the surplus sharing model. 

6.
Explain why labour market tightness is improved by the productivity shift. 

7.
How is this result changed if the net income while looking for work shifts in the same proportion as productivity? 

